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(b) 38 F1 B Time Complexity (53} Big-O EdopfTHY#4E) (10%)

int F1(int low, 1nt high) {
int mid;
if (low > high)
return O;
else {
mid = [(low + high)/2];
if (x == S[mid])
return mid;
else if (x == S[mid])
return F1(low, mid - 1);

else
| return F1(mid + 1, high);
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(a) LA class TreeNode XA - 58K class BST private ZiHIES @ WEH
Constructor FJFEE, ° (5%) |
(b) BH Get HEBHIEAEHBERZLEENNEN) (5%)
(c) BH Insert NN G RBEETEE24ERHIEA) (10%)
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—70 43, 3 55 —40 43, 4 5% —80 43+, 5 87 —90 43+ ° (5%)
(e) Z& (d) /)78 » EH! BST BYEAKIE © (5%)

class TreeNode { - - | —l
friend class BST;

private:

TreeNode *LeftChild,

TreeNode *RightChild;

int Grade; // Grade of a student | l
int ID; // identification of a student

l};

| class BST {
public: l

| int Get(int key); // for a given grade, return student 1D

void Insert(int key, TreeNode& value); // no return value
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LA Linear Probing BY G EEFREEY » &R H - d5la HX) =7 (5%)
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(c) Hashing Ef AVL Tree FBEL @ BRIEA] ? GRELEAR 7 (10%)

(d) 0, 26, 52 =FEZEFI LA AVL Tree AT > SRBMA ? FEEERHAER
A AVL Tree Hyafe » Mg AR —fE e o5 (LL, LR, RR,RL) ?
(5%)

4. —EEBE G=(,E): V={v,v,,..,v } & Vertices ST ' E ={e,e,,..} ;&
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